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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

53+99+92=

10+38+43=

39+84+94=

24 + 34 + 44 =

62+ 20+ 67 =

66+ 12+ 32 =

N0+13+96=

69+57+17=

58+ 81 +56=

33+30+42=

32+98+ 74=

93+38+74=

20+91+57=

22+49+22=

Antworten

10.

11

12.

13.

14.
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ﬂh 3 Additionswerte (2-stellig) Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1) 53+99+92= 244 a4
—_— 1.
2 10+38+43= 91 2 91
3 217
3 39+84+94= 217
— 4 102
4) 24+ 34+ 44= 102 5 149
6 110
5 62+20+67= 149
7 199
6) 66+ 12+ 32= 110 8 143
195
7) 90+13+96= 199 %
10, 105
_— 11.
9 58+81+56= 195 12. 205
13, 168
10) 33+30+42= 105
- 14. 93
11) 32+ 98+ 74= 204
12) 93+ 38+ 74= 205
13) 20+91+57= 168
14) 224+ 49+22= 93

Math 1-10 | 93]86|79|71]64[57|50] 43|36 29|
aine www.CommonCoreSheets.de 11-14(21|14]7 | O




JL_

3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

Antworten

{

244
217

143 195
91 149

199
105

110
102 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

53+99+92=

10+38+43=

39+84+9A=

24 + 34 + 44 =

62+ 20+ 67 =

66+ 12+ 32 =

90 +13+96 =

69+57+17=

58 + 81 + 56 =

33+30+42=

10.

Geandert
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